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EQ2AE: ['LfA", 'peakTgtLAl']
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EQ2AE (plot by DAT)
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Days After Budding

EQ2AE TsN1 (plot by DAT)
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Days After Budding

EQ2AE TsN2 (plot by DAT)
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Days After Budding

EQ2AE TsN3 (plot by DAT)
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Days After Budding

EQ2AE TsN4 (plot by DAT)
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EQ2AE TsN5 (plot by DAT)
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Days After Budding

EQ2AE TsN6 (plot by DAT)

T
I
I
I
501 1 e
! L
! T Harve
: -1
40 A ' ;6
: If‘" Turn Color
1 |_.
I
I =@
I - -@
30 : i___‘
| o
1 ‘—.
I —_
20 : _;'
[ --&
I I
: r—@
1 ——=-®
10 A 1 |
: e é Fruit Set
I I
: | Anthesis
0 - ! ®
I
: Budding
I T T T T
20 40 60 80

Days After Transplant



EQ2AE (plot by adjDAT)

r-——-9
-9
$-

o: =
9.
o1 i-9
‘e, Te -9
Ue 1t Ll
1 1 I- 1
L e e
e 7 T e
18- -9 o 9
ey te e iy
* _I|. _ul. _I* _.I.
e e o te e
_In_umf %I4 _I.* _.I. _I.*
‘ H_I‘w r.* r* _I_ ...*
“ Eo Lo “? * |
5, #l Tyt el
P N S A
e -9 e
4.. 's 9 t9---0--—-e
e s
--9 “ 1 1 |
I -9 - 1 |
-9 1 1 1
H - -9 --—0--—-9
+ I,
o S S B
...ﬂ.* _|ﬂ _.ll.*_.lll..
r* Iﬂ “
e -
e e—®
R
"--f-m-o
e &

Buippng a1y sAeqg

80

60

40

20

Days After Transplant



Days After Budding

EQ2AE TsN1 (plot by adjDAT)
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Days After Budding

EQ2AE TsN2 (plot by adjDAT)
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Days After Budding

EQ2AE TsN3 (plot by adjDAT)
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Days After Budding

EQ2AE TsN4 (plot by adjDAT)
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EQ2AE TsN5 (plot by adjDAT)
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Days After Budding

EQ2AE TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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